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BACHELOR'S DEGREE PROGRAMME 
(BDP) 

1129 	Term-End Examination 

December, 2015 

ELECTIVE COURSE : ECONOMICS 

EEC-05 : ELEMENTARY MATHEMATICAL 
METHODS IN ECONOMICS 

• 

Time : 2 hours 
	 Maximum Marks : 50 

(VVeightage : 70%) 

Note : Attempt questions from each section as per 

instructions given. 

SECTION A 

Answer any two questions from this section. 	2x10=20 

1. The demand function for a good X is given by 

Qx  = 65 — 5Px  + 3Py  + 0.5 I, where Py  is the price 

of the other good Y and I is the income of the 

consumer. 

Find the own price, cross price and income 

elasticities, when P x  = 15, Py  = 12 and I = 1500. 
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2. Assume that an entrepreneur's short-run total 
cost function is C = q3  — 10q2  + 17q + 66. 
Determine the output level at which he 
maximises his profit, if P = 5. 

3. Determine the eigen values and eigen vectors of 

	

[5 
	4 

the matrix A =  

	

1 	2 

4. Discuss the importance of Hawkins-Simon 

condition in input-output analysis. With the help 

of an example, explain the Hawkins-Simon 

condition. 
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SECTION B 

Answer any three questions from this section. 	3x7=21 

5. (i) 	Explain the idea of continuity of a function. 

(ii) 	Evaluate the following limit 

lim x log x 
x 

6. What is the consumer's surplus if the demand 

function is given as : P = 10 - 2Q and P = 0 ? 

4 	- 2 1 

7. Find the inverse of the matrix A = 7 	3 0 

2 	0 1 

8. Solve the difference equation y t 	- 5yt  = 1. It is 

7 
given yo  = 	. 

4 

9. Find 	the 	characteristic 	vectors 	of the 

matrix 
1 	3 

4 	2 • 
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3x3=9 

, 

Answer any 

10. Solve : 

2 

f 3x2  

1 

11. If y = loga  

12. If A = 

three 

dx 

x2  

2 	4 

1 	3 

SECTION C 

questions from this 

+ 5x, find clY  
dx 

	

; B = [ 2 
	0 

	

-1 	1 

2 

section. 

and. C = 
[ 

1 

find 

(a) A - 2B 

(b) AB 

(c) 

13. Compute the determinant 

8 

4 

6 

1 

0 

0 

3 

1 

3 
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:RR* (of's 4 gfiqllif !If NWT 3-ffi-  007 / 

P:Housg47-e- ONTJR-fer7V 	 2x10=20 

1. r4, 	41 	x   Re 

	

Q. = 65 - 5Px  + 3Py  + 0.5 I, \ Py  3TP:f 	Y- *I• 

WiTT IZEPTIMI 	31Tz T t I 

	 mitt (aTwi) 4111ci rile TAT 311-4 

Tff 	-7q.  P. = 15, Py  = 12 MR I = 1500. 
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2. IfT4 #1.1:14R 	1441 .3t4 	(entrepreneur) 

ril-c)10 	art 	civic! 	TF-eq 

C = q3  - 10q2  + 17q + 66. ZIT \it-LH< TiTT 

*fr.-4R \716 aTrtr+74 srrqr   t, 7fft 

P = 5. 

[5 4 
3. airof A = 

	

	 wAT 3RO-4 eqvr 
2] 1 

Tic Al-r-4R 

4. -WErtir 7T--*--R:r-thepii 7r4 H 	ci 

oaf *'1'N7 I 	dcwui 	letc-ii 

WUR:1411t4 4-1-1 	ill-15'W I 

EEC-05 	 6 



47-ef Wt7N 4-  am-  eaci 3x 7=21 Fr 3-  

5. (i) W4 tiliN 	(continuity) .Q 	alfiriTTPTI 

(idea) 0 t1 1-15W 

(ii) 1+-11Z1RICI 1:1117 Tff *Fr4R : 

lim x log x 
x-3 0 

6. TitIT th-Fq Rim TRU 	P = 10 — 2Q ITT P = 0, 

3EMTT aTRT*Ef (surplus)ftdT 	? 

4 	—2 	1 

7. 3-TIR0 A = 7 	3 	0 WI 9W1 Tic 

2 	0 	1 

411-47 

8. atdT 	cb"I  Yt+1 	Yt = 1 	rT*tf-47 I 7f• 

7 
1171T 	yo = 	• 

.3 
9. aTTRo aTRrmTrar- 	wd.  407 I 

2 
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n Tr 

Ti 

10. 

11.  

12.  

mr4 	aur 

5x,7Iff 

2 
; B = 

[-1 

T / 

. 

C = 
3 

1 

3x3=9 

, 

CLAUS 	ATe- 	a9v 

*C-4R : 
2 

3x2  dx 

zER y = loga  x2  + 

	

[2 	4 
7it A = 

	

1 	3 

0 

1 
cT2TT 

ATR 
(") A — 2B 

NO AB 

(TT) 

8 1 3 

4 0 1 13. TfRfur W--A-R I 

6 0 3 
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